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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %

1a 2622 3 1.4 5 60.7 99

Question

0 10 20 30 40 50 60 70 80 90 100
Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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AO1 - Strength with relevant concept  explained
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Weakness using evaluative tone
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Summary and judgement
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Sticky Note

9+5+6 = 20
AO1 – Conceptually sound with detail 
AO2 – Item plus studies
AO3 –Debate with explicit evaluation






















Section A

Read the following item and answer each part of the following question.

Compulsory question

Policing in the 21st Century

Sarah Chapman reviewed studies on the police and having discovered traditional masculinity

was an important characteristic of police culture, she carried out primary research. She used a
longitudinal approach to avoid just taking a snap-shot of police culture. 24 male police recruits were
interviewed on four occasions over a four-year period. She chose semi-structured interviews to
gather rich qualitative insights into police culture. Chapman explained to those taking part that she
would be following the British Sociological Association’s guidelines on ethics.

Adapted from: Sarah Chapman: ‘The New Face of Policing’. September (2018) Sociology Review

Answer each part of the following question.

1.

(c) With reference to the item and sociological studies, discuss the strengths and
weaknesses of using qualitative methods to gather information. [20]

© WJEC CBAC Ltd. (2200U20-1)
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Evaluate feminist views of education. [30]

Answers will make judgements on the worth of concepts, theory, or sociological
debate. The answer will focus on the debate in the question. Credit will be given
to the effective use of supporting sociological evidence/ theories and concepts.
Where answers demonstrate all abilities to the highest standard then they will be
consistent with band 4. However, answers demonstrating knowledge but fewer
skills of assessment, judgement and evaluation may achieve band 4 for AO1 but
lower bands for AO2 and AO3.

Indicative content

The view can be contextualised as a feminist perspective of education.

o Candidates may refer to feminist interpretations of the role of education
and/or educational achievement.

e They may differentiate between different feminist perspectives such as liberal,
Marxist/Socialist and radical feminism, however textbooks offer contradictory
labels.

e Liberal/Marxist feminism — the gendered curriculum, reflecting patriarchal
roles in wider society.

o Institute of Physics highlighted subject choices at A level - girls dominate
English, biology and psychology, boys dominate physics, maths and STEM
subjects 2013.

e Stereotypes reinforced through hidden curriculum e.g. uniform, girls ‘helping’
boys with their work, Marxist feminist; Francis.

e Liberal feminist Sharpe, despite changes in girls’ perceptions and goals and
higher level of attainment, this progress not translated into wider society.

o Despite educational success of girls, boys dominate classroom interaction;

Skelton; Reay.

Space in the classroom and teacher time dominated by boys; Spender.

Gendered roles in hidden curriculum e.g. textbooks; Kelly, McCabe, Fine.

Invisibility of women in the curriculum, ‘symbolic annihilation’; Macabe.

Gendered and sexist language in classroom and yard reinforces patriarchy;

Lees, Skelton.

Girls feeling uncomfortable in male subject areas; Culley.

¢ Radical feminists point to sexual harassment, sexting etc.

e Boys aggressive towards ‘transgressive women; who challenge male
dominance in schools and universities.

o Lack of female head teachers and in prestigious posts at university; Kelly.

e Focus on feminisation of primary schools has in turn led to a 're-
masculinisation' of primary schooling which does not challenge gender
inequality; Skelton.

To evaluate

e Gender discrimination against boys; Mulrine.

o Lack of opportunities for boys real employment opportunities and ‘crisis of
masculinity’, Mac an Ghaill.

e Feminisation of education leads to growth of ‘laddish subcultures’ - may crush
educational motivation; Mitsos and Brown, Francis.

e The Equality Act 2010 raised awareness of inequality.
Initiatives such as GIST have positive impact on girls.

e Attention boys receive often negative - focused on behaviour rather than
academic assistance; Francis.

e Same sex schools may challenge gender inequality.
Functionalist view — education is meritocratic.
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e Marxist view — main form of inequality is social class.

Ideas should be compared and evaluated with reference to supporting

evidence.
e Any other relevant point.

understanding of
sociological theories/
4 concepts/evidence
relating to the context

relevant selection of
appropriate
sociological theories/
concepts/evidence.

Band AO1 AO2 AO3
elements 1a & 1b element la strands 1-3
11-13 marks 5 marks 10-12 marks
Answers Answers Answers
demonstrate detailed | demonstrate demonstrate
knowledge and accurate and detailed, well-

organised and logical
arguments. Logical
judgements and
conclusions will be

demonstrate some
knowledge and
understanding of
sociological theories/
3 concepts/evidence

demonstrate some
accurate and relevant
selection of
appropriate
sociological theories/

of the These are applied offered based on
debate/question. and interpreted in the | explicit evaluation of
context of the the relevant theories/
debate/question. concepts/evidence
examined.
7-10 marks 3-4 marks 7-9 marks
Answers Answers Answers

demonstrate some,
well-organised and
logical arguments.
Judgements and
conclusions offered

understanding of

and interpret

relating to the context | concepts/evidence. will show some

of the Some of which are evaluation of the

debate/question. applied and relevant theories/
interpreted in the concepts/evidence
context of the debate/ | examined.
question.

4-6 marks 2 marks 4-6 marks
Answers Answers Answers
demonstrate basic demonstrate a basic | demonstrate basic
knowledge and ability to select, apply | arguments.

Judgements and

sociological theories/
concepts/evidence
relating to the context
of the debate/
question.

and/or apply
sociological theories/
concepts/ evidence in
the context of the
debate/question.

2 . . . : ;
sociological theories/ | appropriate conclusions offered
concepts/evidence sociological theories/ | will show basic
relating to the context | concepts/ evidence in | evaluation of the
of the debate/ the context of the theories/concepts/
question. debate/question. evidence examined.

1-3 marks 1 mark 1-3 marks
Answers Answers Answers
demonstrate limited | demonstrate limited | demonstrate limited
knowledge and ability to select argument. Any

1 understanding of and/or interpret judgements and

conclusions offered
will show limited
evaluation of any
theories/concepts/
evidence examined.

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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10+3+9= 22
AO1 – Some K&U focused on Q, some is general
AO2 – Range of feminists selected very few studies. Focused on Q
AO3 – Detailed evaluation with some inaccuracies
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AO2 – Relevant selection of theories and contemporary evidence. Explains relevance of evidence
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SECTION B

Answer one of the following options.

Option 1 Education

Compulsory question

2.
Either,

(b) Evaluate feminist views of education. [30]
Or,

© WJEC CBAC Ltd. (2200U20-1) Turn over.
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(© Assess the view that the school is the main influence on the educational
achievement of pupils from different social classes. [30]

Answers will make judgements on the worth of concepts, theory, or
sociological debate. The answer will focus on the debate in the question.
Credit will be given to the effective use of supporting sociological evidence/
theories and concepts. Where answers demonstrate all abilities to the highest
standard then they will be consistent with band 4. However, answers
demonstrating knowledge but fewer skills of assessment, judgement and
evaluation may achieve band 4 for AO1 but lower bands for AO2 and AOS3.

Indicative content

e There should be a clear understanding of patterns of achievement
amongst different groups; DfES/DCELS statistics, Estyn reports. Welsh-
medium education statistics and data may be considered.

e Candidates may consider the view that differences in educational
achievement are caused by factors in the school.

e Importance of processes within schools such as labelling based on
stereotypes: Becker.

o Teachers differing expectations and labelling - self-fulfilling-prophecy;
Becker, Rosenthal and Jacobson.

e The ‘halo effect’, Hargreaves.

Setting and streaming often based on assumptions rather than ability;
Reay, Ball.

¢ Role of pupil subcultures inside school; Mac an Ghaill.

e Curriculum designed by middle class educators for middle class pupils;
Ball.

e Working class girls under-achievement often ignored; Archer.

Alternatively, candidates may consider the view that the school is not the

main influence on educational achievement.

e Functionalist, New Right views, Marxist views may be considered.

e Cultural deprivation and primary socialisation, focussing on the home
background and parental support; Douglas, Feinstein, Gaine and George,
Sewell.

¢ Immediate and deferred gratification; white working-class families often
least aspirational; this group is now the most likely to underachieve;
Strand, Sutton Trust.

o Impact of cultural capital; Bourdieu, Ball.

e Parental aspirations of different ethnic groups more important than social
class; e.g. working class Chinese parents often aspirational, Chinese
children are the highest achieving group in Britain; Archer and Francis,
Chau.

e Language - restricted and elaborated codes acquired at home; Bernstein.

e Material factors in the home; Marxists; Smith and Noble, Blanden and
Gregg, Platt.

e Over determinism of some theoretical perspectives and lack of empirical
evidence.

e |deas should be compared and assessed.

e Any other relevant point.
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Band AO1 AO2 AO3
elements la & 1b element la strands 1-3
11-13 marks 5 marks 10-12 marks
Answers Answers Answers
demonstrate demonstrate demonstrate
detailed knowledge | accurate and detailed, well-
and understanding relevant selection of | organised and
of sociological appropriate logical arguments.
4 theories/concepts/ sociological Logical judgements
evidence relating to | theories/concepts/ and conclusions will
the context of the evidence. These are | be offered based on
debate/question. applied and explicit evaluation of
interpreted in the the relevant
context of the theories/concepts/
debate/question. evidence examined.
7-10 marks 3-4 marks 7-9 marks
Answers Answers Answers
demonstrate some | demonstrate some | demonstrate some,
knowledge and accurate and well-organised and
understanding of relevant selection of | logical arguments.
sociological appropriate Judgements and
3 theories/concepts/ sociological conclusions offered
evidence relating to | theories/concepts/ will show some
the context of the evidence. Some of evaluation of the
debate/question. which are applied relevant theories/
and interpreted in concepts/evidence
the context of the examined.
debate/question.
4-6 marks 2 marks 4-6 marks
Answers Answers Answers
demonstrate basic demonstrate a demonstrate basic
knowledge and basic ability to arguments.
understanding of select, apply and Judgements and
2 sociological interpret appropriate | conclusions offered
theories/concepts/ sociological will show basic
evidence relating to | theories/concepts/ evaluation of the
the context of the evidence in the theories/concepts/
debate/question. context of the evidence examined.
debate/question.
1-3 marks 1 mark 1-3 marks
Answers Answers Answers
demonstrate limited | demonstrate limited | demonstrate limited
knowledge and ability to select argument. Any
understanding of and/or interpret judgements and
1 sociological and/or apply conclusions offered
theories/concepts/ sociological will show limited

evidence relating to
the context of the

theories/ concepts/
evidence in the

evaluation of any
theories/concepts/

debate/question. context of the evidence examined.
debate/question.
0 marks 0 marks 0 marks
NRSP NRSP NRSP

© WJEC CBAC Ltd.
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AO1 – Some K&U with some inaccuracies
AO2 – Some irrelevant selection of theories  - some misinterpretation, lacks studies/development
AO3 – Basic evaluation
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SECTION B

Answer one of the following options.

Option 1 Education

Compulsory question

Either,

Or,

(c) Assess the view that the school is the main influence on the educational achievement
of pupils from different social classes. [30]

© WJEC CBAC Ltd. (2200U20-1) Turn over.
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(b)

© WJEC CBAC Ltd.

Using material from the item and sociological knowledge, explain two possible
reasons why some sociologists adopt a longitudinal approach in their research.

(10]

There should be two reasons for AO1 band 3. These reasons can be theoretical,
practical or methodological and must contain technical language. For AO2 band 3

the reasons must be contextualised and explained with reference to
methodological issues. The item should be used to demonstrate understanding.

Indicative content

e Understanding of the concept ‘longitudinal approach’: takes place over a long

period of time

e May generate qualitative data as in the Item, however longitudinal research
can also be used to collect quantitative data.

o Comparisons between variables may be made over time for example whether
there were changes as the officers adapted to the culture of the police (Item)

e Opportunity to explore developing opinions as in the item, further insights

The research might be more valid than snap-shot approaches such as a

survey

e Time to allow the researcher to explore meanings

e Descriptive insights into the people being studied as in the item

e Sensitive issues can be discussed as trust is built up over time

o Reference will be made to the item.

e Any other relevant point.

Band AOl1l AO2
elements 2a & 2b element 1b
5-6 marks 4 marks

Answers demonstrate detailed
knowledge and understanding
of sociological theories/

3 concepts/ evidence relating to
the context of the

Answers demonstrate a detailed
ability to select, apply and interpret
appropriate sociological
theories/concepts/evidence in the
context of the debate/question.

Answers demonstrate some
knowledge and understanding
of sociological theories/
concepts/ evidence relating to
the context of the
debate/question.

debate/question. There will be appropriate use made
of the item to demonstrate
understanding.
3-4 marks 2-3 marks

Answers demonstrate some ability to
select, apply and interpret
appropriate sociological theories/
concepts/ evidence in the context of
the debate/question.

Some reference will be made to the
item.

1-2 marks
Answers demonstrate basic
knowledge and understanding
1 of sociological theories/
concepts/ evidence relating to
the context of the
debate/question.

1 mark
Answers demonstrate a basic ability
to select, apply and interpret
appropriate sociological theories/
concepts/ evidence in the context of
the debate/question.

0 marks

NRSP

0 marks
NRSP
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Section A

Read the following item and answer each part of the following question.

Compulsory question

Policing in the 21st Century

Sarah Chapman reviewed studies on the police and having discovered traditional masculinity

was an important characteristic of police culture, she carried out primary research. She used a
longitudinal approach to avoid just taking a snap-shot of police culture. 24 male police recruits were
interviewed on four occasions over a four-year period. She chose semi-structured interviews to
gather rich qualitative insights into police culture. Chapman explained to those taking part that she
would be following the British Sociological Association’s guidelines on ethics.

Adapted from: Sarah Chapman: ‘The New Face of Policing’. September (2018) Sociology Review

Answer each part of the following question.

(b) Using material from the item and sociological knowledge, explain two possible reasons
why some sociologists adopt a longitudinal approach in their research. [10]
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(b)
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Using material from the item and sociological knowledge, explain two possible
reasons why some sociologists adopt a longitudinal approach in their research.

(10]

There should be two reasons for AO1 band 3. These reasons can be theoretical,
practical or methodological and must contain technical language. For AO2 band 3
the reasons must be contextualised and explained with reference to

methodological issues. The item should be used to demonstrate understanding.

Indicative content

Understanding of the concept ‘longitudinal approach’: takes place over a long

period of time.

May generate qualitative data as in the item, however longitudinal research
can also be used to collect quantitative data.

Comparisons between variables may be made over time for example whether
there were changes as the officers adapted to the culture of the police (item).
Opportunity to explore developing opinions as in the item, further insights.
The research might be more valid than snap-shot approaches such as a

survey.

e Time to allow the researcher to explore meanings.

e Descriptive insights into the people being studied as in the item.

e Sensitive issues can be discussed as trust is built up over time.

o Reference will be made to the item.

e Any other relevant point.

Band AOl1l AO2
elements 2a & 2b element 1b
5-6 marks 4 marks

Answers demonstrate detailed
knowledge and understanding

of sociological theories/

3 concepts/ evidence relating to

the context of the

Answers demonstrate a detailed
ability to select, apply and interpret
appropriate sociological
theories/concepts/evidence in the
context of the debate/question.

Answers demonstrate some
knowledge and understanding
of sociological theories/
concepts/ evidence relating to
the context of the
debate/question.

debate/question. There will be appropriate use made
of the item to demonstrate
understanding.
3-4 marks 2-3 marks

Answers demonstrate some ability
to select, apply and interpret
appropriate sociological theories/
concepts/ evidence in the context of
the debate/question.

Some reference will be made to the
item.

1-2 marks
Answers demonstrate basic
knowledge and understanding
1 of sociological theories/
concepts/ evidence relating to
the context of the
debate/question.

1 mark
Answers demonstrate a basic ability
to select, apply and interpret
appropriate sociological theories/
concepts/ evidence in the context of
the debate/question.

0 marks

NRSP

0 marks
NRSP
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AO2 Item quoted
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Imprecise - this study was not longitudinal
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general comment
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AO2 Item interpreted
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PO research not longitudinal
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3+2=5
AO1 – Two reasons, some detail, some overlapping and straying
AO2 – Item used, studies not longitudinal
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AO1 – Two reasons, one more brief – focused on Q
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Section A

Read the following item and answer each part of the following question.

Compulsory question

Policing in the 21st Century

Sarah Chapman reviewed studies on the police and having discovered traditional masculinity

was an important characteristic of police culture, she carried out primary research. She used a
longitudinal approach to avoid just taking a snap-shot of police culture. 24 male police recruits were
interviewed on four occasions over a four-year period. She chose semi-structured interviews to
gather rich qualitative insights into police culture. Chapman explained to those taking part that she
would be following the British Sociological Association’s guidelines on ethics.

Adapted from: Sarah Chapman: ‘The New Face of Policing’. September (2018) Sociology Review

Answer each part of the following question.

(b) Using material from the item and sociological knowledge, explain two possible reasons
why some sociologists adopt a longitudinal approach in their research. [10]

© WJEC CBAC Ltd. (2200U20-1)
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With reference to the item and sociological studies, discuss the strengths and
weaknesses of using qualitative methods to gather information. [20]

Answers should demonstrate the ability to make sense of sociological debates,
offer sociological examples and explain sociological concepts. Answers need to
use key terminology. Credit will be given to effective discussion where there is
evidence of detailed and wide-ranging knowledge. Where answers demonstrate
all abilities to the highest standard, then they will be consistent with band 4.
However, answers demonstrating knowledge but fewer skills of interpretation and
discussion may achieve band 4 for AO1 but lower bands for AO2 and AO3.

Indicative content

¢ All methods have strengths and weaknesses.

Qualitative data can be transcribed and expressed in words, providing
descriptive insights into the people being studied.

o Researcher can explore meanings people being studied give to actions and
processes.

o Data more valid than methods such as questionnaires and structured

interviews.

Sensitive or controversial issues can be discussed.

Researcher can access non-verbal-communication in the group.

Time to develop empathy/verstehen with those being researched, Weber.

Sensitive or controversial issues can be discussed as trust is built up.

Interviewer/observer can access non verbal communication in the

interviewee’s presentation of self.

e Participant observation: researcher able to immerse themselves in the group
and see social life from the same perspective as the group.

e There should be reference to studies used to illustrate the points made.

e Can reveal attitudes or behaviours, researcher might not otherwise have
thought of asking; Foote-Whyte.

e Frosh et al: researched young masculinities and used focus groups to gather
gualitative insights. 12 London schools, 245 boys, 11-14 years old, and 27
girls. 45 focus groups between four and eight people in each; 2001.

o Eileen Barker used participant observation and semi-structured interviews in
her study: ‘The Making of a Moonie’.

e Zoe James used semi-structured interviews in her study of New Age
Travellers 2007.

e Any study that provides appropriate examples of qualitative research.
Reference will be made to the item.

Disadvantages of qualitative research.

e Comparability: the data collection is not standardised - less reliable in terms

of opportunity for another researcher to repeat the study.

Little quantitative data.

Qualitative research can be very time consuming.

Analysing the data — difficult.

If the research has been recorded, - information collected needs to be

transcribed: can take many hours.

e Researcher may influence the respondent’s answers through their body
language or tone.

e Problem those being researched might want to present themselves in a

certain way and this can affect the validity of the research.

Difficulty in measuring the data, researcher bias, the Hawthorne effect.

Ethical issues, especially covert participant observation.

Lacks scientific rigour; Popper.

Any other relevant point.
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Band AO1 AO2 AO3
elements la & 1b element la strands 1-3
8-9 marks 5 marks 6 marks

Answers Answers Answers
demonstrate detailed | demonstrate demonstrate
knowledge and accurate and detailed, well-
understanding of relevant selection of organised and logical
sociological theories/ | appropriate arguments. Logical

4 concepts/evidence sociological theories/ | judgements and
relating to the context | concepts/evidence. conclusions will be
of the debate/ These are applied offered based on
guestion. and interpreted in the | explicit evaluation of

context of the the relevant theories/
debate/question. concepts/ evidence
examined.

5-7 marks 3-4 marks 4-5 marks
Answers Answers Answers
demonstrate some demonstrate some demonstrate some,
knowledge and accurate and relevant | well-organised and
understanding of selection of logical arguments.
sociological theories/ | appropriate Judgements and

3 concepts/evidence sociological theories/ | conclusions offered
relating to the context | concepts/evidence. will show some
of the debate/ Some of which are evaluation of the
guestion. applied and relevant theories/

interpreted in the concepts/evidence
context of the debate/ | examined.
guestion.

2-4 marks 2 marks 2-3 marks
Answers Answers Answers
demonstrate basic demonstrate a basic | demonstrate basic
knowledge and ability to select, apply | arguments.

5 understanding of and interpret Judgements and
sociological theories/ | appropriate conclusions offered
concepts/evidence sociological theories/ | will show basic
relating to the context | concepts/ evidence in | evaluation of the
of the debate/ the context of the theories/concepts/
guestion. debate/question. evidence examined.

1 mark 1 mark 1 mark
Answers Answers Answers
demonstrate limited | demonstrate limited demonstrate limited
knowledge and ability to select argument. Any

1 understanding of and/or interpret and/ | judgements and

sociological theories/
concepts/evidence
relating to the context
of the debate/
guestion.

or apply sociological
theories/concepts/evi
dence in the context
of the debate/
guestion.

conclusions offered
will show limited
evaluation of any
theories/concepts/
evidence examined.

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP
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AO3 evaluation
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Concept defined
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Summary
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5+4+4=13
AO1 – Some range, less developed
AO2 -  Item and one relevant study
AO3 – Some range of evaluation
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WJEC GCE AS SOCIOLOGY
UNIT 2 — UNDERSTANDING SOCIETY AND METHODS OF SOCIOLOGICAL ENQUIRY

SUMMER 2023 MARK SCHEME

Section A

Read the following item and answer each part of the following question.

Compulsory question

Policing in the 215t Century

Sarah Chapman reviewed studies on the police and having discovered traditional
masculinity was an important characteristic of police culture, she carried out primary
research. She used a longitudinal approach to avoid just taking a snap-shot of police culture.
24 male police recruits were interviewed on four occasions over a four-year period. She
chose semi-structured interviews to gather rich qualitative insights into police culture.
Chapman explained to those taking part that she would be following the British Sociological
Association’s guidelines on ethics.

Adapted from: Sarah Chapman: ‘The New Face of Policing’. September (2018) Sociology Review

Answer each part of the following question.

1. @) Using material from the item and sociological knowledge, explain the meaning
of the term ethics. [5]

Answers should include accurate knowledge points for band 3 AO1. Points
should be supported with examples and/or evidence. For band 3 AO2 a clear
explanation of the examples/evidence should be present.

Indicative content

e A definition of the term — moral guidelines concerned with the right and
wrong ways of behaving in research.

e BSA - researcher should aim to safeguard the interests of people being

studied, decide whether the research is worthwhile and methods -

appropriate.

Participants - right to anonymity, privacy and confidentiality.

Participants should not be harmed physically or emotionally.

Ask for informed consent.

Researchers should not place themselves in danger, condone illegal

activities or be dishonest to those they are researching.

Reference will be made to the Item.

Any other relevant point.

© WJEC CBAC Ltd. 2
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Band AO1 AO2
elements 2a & 2b element 1b
3 marks 2 marks
Answers demonstrate detailed | Answers demonstrate accurate
knowledge and understanding and relevant selection of
of sociological concepts relating | appropriate sociological
to the context of the debate/ concepts/evidence/ research
3 question as applied to research | methods. These are applied and
methods interpreted in the context of the
debate/question.
Reference will be made to the
item to show the ability to select
appropriate examples.
2 marks 1 mark
Answers demonstrate some Answers demonstrate some
knowledge and understanding ability to select, apply and
2 of sociological concepts relating | interpret appropriate
to the context of the debate/ sociological concepts/evidence/
question as applied to research | research methods in the context
methods. of the debate/question.
1 mark
Answers demonstrate basic
knowledge and understanding
1 of sociological concepts relating

to the context of the debate/
question as applied to research
methods.

0 marks
NRSP

0 marks
NRSP
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AO2 Item
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1+1=2
AO1 – Definition
AO2 – Item used not quite developed enough
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AO2 example
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2+2 = 4
AO1 – Implicit definition plus further knowledge
AO2 – Item plus an example
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AO1 - Definition
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AO1 Further K+U point lengthy
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3+2=5
AO1 – Definition plus 2 further points in one long sentence
AO2 – Item and study interpreted well  

















Section A

Read the following item and answer each part of the following question.

Compulsory question

Policing in the 21st Century

Sarah Chapman reviewed studies on the police and having discovered traditional masculinity

was an important characteristic of police culture, she carried out primary research. She used a
longitudinal approach to avoid just taking a snap-shot of police culture. 24 male police recruits were
interviewed on four occasions over a four-year period. She chose semi-structured interviews to
gather rich qualitative insights into police culture. Chapman explained to those taking part that she
would be following the British Sociological Association’s guidelines on ethics.

Adapted from: Sarah Chapman: ‘The New Face of Policing’. September (2018) Sociology Review
Answer each part of the following question.

1. (@) Using material from the item and sociological knowledge, explain the meaning of the
term ethics. [5]

© WJEC CBAC Ltd. (2200U20-1)















































































































































